

$$a_n = \mu, \omega, V, \dots$$

$$b_n = \mu, \omega, \Lambda, \dots$$

$$[\mu, p] = 4$$

$$a_{p_0} = \mu + p \times 14 = 14$$

$$b_{p_0} = p + \mu \times 14 = \omega 4$$

$$\omega + a(n-1) \leq 14 \rightarrow \omega + an - 4 \rightarrow an - 1 \leq 14$$

$$n \leq V \leftarrow an \leq 14$$

$$a_1 + a_p + a_w = 14$$

$$a_1 + a_w + a_\omega = 1 \cdot \omega$$

$$a_1 + a_p + a_w + a_1 + a_w + a_\omega = 1$$

$$a_1 + a_w + a_\omega = \mu a_w \rightarrow a_w = \frac{\mu \omega}{\mu}$$

$$a_1 + a_w + a_\omega = \mu a_p = 14 \rightarrow a_p = V$$

$$z_1 + z_p + z_w = 1 \cdot \omega \rightarrow \mu z_1 + \mu d = 1 \cdot \omega \rightarrow z_1 + d = \omega$$

$$z_p + z_\omega = 1 \cdot \omega \rightarrow z_1 + \mu d + z_1 + \mu d = 2 z_1 + V d = 2 \omega$$

$$z_1 + z_p + z_w + z_p + z_\omega = 2 z_1 + \frac{z_\omega}{\mu} = \frac{\omega z_\omega}{\mu} = 14$$

$$C, (z_1 + z_\omega)$$

$$z_1 = 14 + 9 \times \mu = 14$$

$$z_1 = \mu \times (z_1 + d) = \mu \times \omega$$

$$d = 1 \cdot \omega \rightarrow d = \mu$$

$$S_q = \frac{q}{p} (a_1 + a_q)$$

$$S_r = \frac{r}{p} (a_1 + a_r)$$

$$F, \omega a_1 + F, \omega a_q = (1 \cdot \omega a_1 + 1 \cdot \omega a_w) \times 4$$

$$F, \omega a_1 + F, \omega a_q = 1 \cdot \mu, \omega a_1 + 1 \cdot \mu, \omega a_w$$

$$9 a_1 = 1 \cdot \mu, \omega a_w - F, \omega a_q$$

$$9 a_1 = \mu (F, \omega a_w - 1 a_q) \rightarrow \mu a_1 = F, \omega a_w - 1 a_q$$

کیمیاء ارادی - تالیف ۱۲ -

$$z_n = \omega \left(\frac{1}{F} + \frac{1}{F} + \frac{1}{F} \right) \rightarrow z_n = F_n + P$$

$$z_n = F_n + 1 \quad \text{الف}$$

$$F \times 10 + 1 = 19 \quad \text{ب}$$

$$z_n = \omega \left(\frac{1}{F} + \frac{1}{F} + \frac{1}{F} \right) \rightarrow z_n = F_n + P$$

$$s_n = \frac{n}{F} (P \alpha + (n-1) d) \quad \text{الف}$$

$$s_{10} = \omega \left(\frac{1}{F} + \frac{1}{F} + \frac{1}{F} \right) = 2F \quad \text{ب}$$

$$P(z_{11}) = z_1 + z_2 + z_3 + z_{10} \quad F \times 11 = 32$$

$$z_{11} = z_1 + \omega d \rightarrow P F_0 + \omega = P F \omega \times P = F \omega P$$

$$P - 1 - \sqrt{P} \rightarrow 1 - \sqrt{P} \quad \omega \quad \frac{P}{P F_0}$$

$$1 + \sqrt{P} \rightarrow P \rightarrow P - \sqrt{P} \rightarrow \dots$$

$$z_{11} - z_{10} = P - P d \rightarrow -P(1 - \sqrt{P}) = -P + P\sqrt{P} \rightarrow P(-1 + \sqrt{P})$$

$$z_1 + P d - z_1 - P F d = -P d$$

$$a_n = \omega \left(\frac{1}{F} + \frac{1}{F} + \frac{1}{F} \right) \rightarrow P \omega \left(\frac{1}{F} + \frac{1}{F} + \frac{1}{F} \right) \quad \text{ب}$$

$$b = \omega \left(\frac{1}{F} + \frac{1}{F} + \frac{1}{F} \right)$$

$$x \cdot y = P$$

$$b = \frac{a + c}{P}$$

$$b = \frac{a}{P} + \frac{c}{P}$$

$$b - \frac{a}{P} = \frac{c}{P} \rightarrow P b - a = c$$

$$\omega = \omega \rightarrow \omega^{Pn+1} = \omega^{Pn} \times \omega \rightarrow \omega^{Pn} = \omega^{Pn} \times \omega \rightarrow \omega$$

$$n, P, Pn+1$$

$$Pn+1 = F - n \rightarrow Pn = P \rightarrow n = 1$$

$$x y = P$$

$$y = P$$

$$Pn - F, Pn - 1, \dots$$

$$Pn + P = \omega n \rightarrow F n = P \rightarrow n = \frac{P}{F}$$

$$t_F = P a_1 + P d$$

$$Pn - P + \omega = \omega$$

